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Construction 1 Construct a triangle whose sides have the given lengths.

(3.1 - Example 1)
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Construction 2 Construct a triangle having its sides congruent to the corresponding parts of a given
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Problem #1 Given an isosceles triangle ABC with base BC and M the midpoint of the base, show that
aABM =aACM .
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Problem #2 Given AB bisects @
A CD bisects AB
Prove aAAOC =aBOD
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Problem #4 R If ZR and £V are right angles and £1= £2, prove that
(3.2 -#5) ARST =aVST .
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Problem #5 " Given UW|XZ  mA=ml4=4x+3
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Problem #6

In a right triangle FDG with right angle D, the bisector of angle D intersects the
(3.2 -#24) hypotenuse at E. The acute angles of the triangle are congruent. Prove that E is the
5 midpoint of the hypotenuse. , =
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The Pythagorean Theorem  In any right triangle, the square of the hypotenuse is equal to the sum of the
squares of the legs.

. ¢ a’+b*=¢?

Note that the converse of the Pythagorean theorem is also trug; that is, if the lengths g, b, and ¢ of the three sides of
a triangle are such that @ +b* = ¢?, then the triangle is a right triangle with its right angle opposite side c.

Problem #8 a) In a right triangle the hypotenuse is 13 in and one leg is 12 in. Find the other leg.
b) In a right triangle, one leg is 8cm and the other one is 15 cm. Find the hypotenuse.
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Problem #9 Explain what is wrong in each figure.
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~ Problem #10 Given /ABC = ZACB
BN bis ZABC
CM bis LACB
Prove aBMC =aCNB
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